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BOTANY

( Generic Elective )
Paper : GE-3

Full Marks : 53
Pass Marks : 21

Timé : 3 hours

The figures in the margin indicate full marks
for the questions

Paper : GE-3 (A)
( Plant Anatomy and Embryology )

1. (@) oo fmt ey ws 8w fdfg 1 @ 1x3=3

Choose the correct answer of the
following :

(i) T M 3 <CBrn PRy =0 P /
@fE / cifasiEea |

: The tissue responsible for 3

i gﬁcondary growth in plant is

/ cambium / pericycle.
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(ii) @f@wwmwmmﬁum
SIRGH e [/ i/ R
The epidermis of plant body is

developed from dermatogen /
periblem / plerome.

(i) &S Sfere QiR el / I [ TeE
N SARMIT A |
In hydrophytic plant, . xylem /
aerenchyma / pith is poorly
developed.

(b) <A D2 =@A F4qA 1x2=2

Fill in the blanks :
(i) fa-fEsae live Qe @" o
I A9 27|

After double-fertilization, zygote and
cell are formed.

(ii) *RMEY S0 @[ afFme @I |

The process of development of
pollen grains is called

2. oY Gt forer -

Write short notes on :

(@) & Tfery wfswres
Adaptation of xerophyte

4x3=12

24P/302

( Continued ) |



189

(b) FAYTS! /S

Apomixis

(c) TS *RGANR JRIPHZ

Advantages of cross-pollination

3. ©iEF I AE 7 wwEE e I SN ees
TR AReE IR I F4A| 2+8=10

What is meristematic tissue? Classify and
describe the meristematic tissue according
to its position and function.

<l /[ Or
5 Gt R 5x2=10

Write short notes on :

(a) REN T

Xylem tissue

(b) TEATra o A9amd 4

Types of stomata in dicots

4. ufm 52 Sfer G4 e alkame I Re@
DA F4 | 2+10=12

What is cambium? Discuss the function of
cambium in secondary growth of plant.
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5 G R 4x3=12
Write short notes on :
fa) IR

Annual rings
(b) FoCiRE R

Casparian strip
(c) *RIMIIR Rem

Microsporogenesis

5. “Ree &7 R AT Sfer ke
OF TEI@n T U gAdel 36 3t
FARNMRNR (FPEPTIR. D 4 | 2+6+6=14

What is pollination? “Pollination is an
important phenomenon in the life cycle of
flowering plant.” Justify the statement.
Discuss the contrivances of self-pollination.

G4l / Or
o4 Gl s 7x2=14

Write short notes on :

(a) F2FToR Az
Application of polyembryony

(b) TaliEsa SIe e @y

Double-fertilization and its significance

24P/302 ( Continued )
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Paper : GE-3 (B)

{ Economic Botany and Plant Biotechnology )

1. (@) woe fg e wa ©ed fadfg a1 @ 1x3=3

Choose the correct answer of the
following :

() f5. @71, @ fReRfafGe smfes SfsRs
2T GEF (SN / W6 /o e |
The discoverer of DNA finger-

printing is Alec Jeffreys / Robertis /
Paul Berg.

(i) AFEEE | G EEE [/ @gPoA
e fefsEes S @b ol 39
9 A |
Ligase / Hydrolase- / Restriction

endonuclease is used as molecular
SCISSOTr.

(iii) 97a Tedfama A wiEwd-sitoy «ftal /
AT [ S |

The centre of origin of wheat is
South-West Asia / America / Africa. .
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(b) A I o7 T 1x2=2
Fill in the blanks :

(i) o] TREF TN 2HA |

The scientific name of tea is

(it) NN IFGRIG A |
The edible part of rice is .

2. oY Gt it -

Write short notes on :

4x3=12

(@ =R. 9. P 3.
RAPD

(b) 1. 5. 9.
PCR

(c <WR. @& . «F. .
RLFP

3. csfeereq Sedifs @w It 6 qent 2 Swraepiz ks
P T Tedfe @ A st o 2+10=12

What do you mean by Vavilov’s centre of
origin? Write briefly different centres of
origin of cultivated crops with examples.
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&{qr / Or
5 GOt forar 6x2=12

Write short notes on :

(@) TO. @51, 9. Reeaiaffoe
DNA fingerprinting

(b) Piewies Sragfemm e

Application of biotechnology in medicine

4. AT T o WIF R BRT PRt 6+6=12

Give a brief account of production process
and uses of cotton.

Y[« / Or
5y (Bl forat - 6x2=12

Write short notes on :

() >E23 *[l foss Sesme sifewt

Production process of mustard oil from
mustard seeds

(b) SACNES FET
Endosperm culture

5. fow wfewg 57 faw wiewgm wifermz f5 /2
S PR S e G wfcagem 9299
e Tmy = 2+4+6=12
What is genetic engineering? What are the

tools of genetic engineering? Also mention

the application of genetic engmeermg in crop
improvements.
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&ql /| Or
5y G ferat

Write short notes on :

(@ s et

Molecular diagnosis

(b) & s

Genetic counselling

* k Kk

6x2=12
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